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GEOGRAPHY (Theory)
Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½Hkwxksy ¼lS)kfUrd½

Time allowed : 3 hours Maximum Marks: 70
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 70

General Instructions :

(i) There are 19 general questions.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions number 1 to 10 are short-answer questions carrying 3 marks each. Answer
to each of these questions should not exceed 80 words.

(v) Questions number 11 to 15 are also short-answer questions of 4 marks each. Answer
to each of these questions should not exceed 120 words.

(vi) Questions number 16, 17 and 18 are long-answer questions of 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question number 19 contains test items of very short-answers. It is of 5 marks.

(viii) Outline maps of the World and India provided to you must be attached with your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lkekU; iz'uksa dh dqy la[;k 1919191919 gSA

(ii) lHkh iz'u vfuok;Z gSaA

(iii) izR;sd ds lkeus mlds vad fn;s gSaA

(iv) iz'u la[;k 11111 ls 1010101010 rd y?kq&mÙkj okys iz'u gSa vkSj izR;sd iz'u ds 33333 vad gSaA ,sls izR;sd

iz'u dk mÙkj 8080808080 'kCnksa ls vf/kd ugha gksuk pkfg,A

Roll No.

Series SHC/2 Code  No. 64/2/1
Please check that this question paper contains 7 printed pages + 2 Maps.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 2 ekufp=k gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 19 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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(v) iz'u la[;k 1111111111 ls 1515151515 rd Hkh y?kq&mÙkj okys iz'u gSa vkSj izR;sd ds 44444 vad gSaA ,sls izR;sd
iz'u dk mÙkj 120120120120120 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 16] 1716] 1716] 1716] 1716] 17 vkSj 1818181818 yEcs&mÙkj okys iz'u gSa vkSj izR;sd ds 55555 vad gSaA ,sls izR;sd
iz'u dk mÙkj 150150150150150 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) iz'u la[;k 1919191919 esa vfr y?kq&mÙkjksa dh ijh{k.k ensa 'kkfey gSaA ;g iz'u 55555 vad dk gSA

(viii) lalkjlalkjlalkjlalkjlalkj vkSj HkkjrHkkjrHkkjrHkkjrHkkjr ds fn;s x;s js[kk&ekufp=kksa dks viuh mÙkj&iqfLrdk esa vo'; uRFkh dhft,A

(ix) js[kk&ekufp=k cukus ds fy;s lk¡pks a lk¡pks a lk¡pks a lk¡pks a lk¡pks a ;k LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a LVs aflyks a ds iz;ksx dh vuqefr nh tkrh gSA

1. State any six characteristics of pastoral nomadism in the world. 6×½=3

lalkj esa pyoklh i'kqpkj.k dh fdUgha N% fo'ks"krkvksa dk mYys[k dhft,A

2. Name any four components of cultural heritage facilitating the perception of natural
phenomena as resources. State the typical characteristic of Indian culture that helps in
the sustainable use of natural resources. 2+1=3

lkaLÑfrd fojklr ds fdUgha pkj vo;oksa ds uke crkb,] tks izkÑfrd ifj?kVukvksa dks lalk/kuksa ds
:i esa tkuus esa enn djrs gSaA Hkkjrh; laLÑfr dh ml fof'k"Vrk dk mYys[k dhft,] tks izkÑfrd
lalk/kuksa ds lrr iks"k.kh; mi;ksx esa lgk;d gSA

3. How has Human Geography responded to the contemporary problems and issues of
the human society after the Second World War ? Explain with any three suitable
examples. 1½+1½=3

f}rh; fo'o ;q) ds ckn ekuo Hkwxksy us ekuo lekt dh ledkyhu leL;kvksa vkSj eqíksa ds
lek/kku fdl izdkj izLrqr fd, gSa\ fdUgha rhu mi;qä mnkgj.kksa lfgr Li"V dhft,A

4. Why is rail transport more popular than the other means of transport throughout the
world ?  Explain any three reasons. 3×1=3

jsy ifjogu vU; ifjogu lk/kuksa dh rqyuk esa lalkj Hkj esa vf/kd yksdfiz; D;ksa gS \ dksbZ rhu dkj.k
Li"V dhft,A

5. “The ground water potential is high in some regions of India.” Support this statement

with three suitable examples. 3×1=3

^^Hkkjr esa HkkSe ty dh laHkkO;rk dqN izns'kksa esa vf/kd gSA** bl dFku dh rhu mi;qä mnkgj.kksa }kjk
iqf"V dhft,A

6. Explain any three technological factors responsible for the low productivity of crops in
India. 3×1=3
Hkkjr esa Qlyksa dh fuEu mRikndrk ds fy, mÙkjnk;h fdUgha rhu izkS|ksfxdh; dkjdksa dks Li"V
dhft,A

7. Explain any three major changes in the export composition of India’s foreign trade since
1960-61. 3×1=3

lu~ 1960&61 ls Hkkjr ds fons'kh O;kikj ds fu;kZr la?kVu esa vk, fdUgha rhu izeq[k ifjorZuksa dks Li"V
dhft,A
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8. Study the map given below and answer the questions that follow : 1+2=3

(8.1) Name the inland waterway shown in the map.

(8.2) State any two main features of this inland waterway.

uhps fn, x, ekufp=k dk v/;;u dhft, vkSj mlds uhps fn, x, iz'uksa ds mÙkj fyf[k, %

(8.1) ekufp=k esa fn[kk, x, vUr%LFkyh; tyekxZ dk uke crkb,A

(8.2) bl vUr%LFkyh; tyekxZ dh fdUgha nks eq[; fo'ks"krkvksa dk mYys[k dhft,A



464/2/1

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 8.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 8 ds LFkku ij gSA

Explain any three features of ‘Suez Canal’. 3×1=3
o"kkZ&ty laxzg.k fdls dgrs gSa\ o"kkZ&ty laxzg.k ds fdUgha pkj mís';ksa dk mYys[k dhft,A

9. Study the table given below and answer the questions that follow : 1+1+1=3

Crop Area Annual World Average Average
Harvested Production Average Yield in Yield in

(Million Ha.)   (Million Yield Developing Developed
Metric Tons)   (Tons/Ha.)    Countries Countries

(Tons/Ha.)     (Tons/Ha.)

Wheat 215.27 583.6 2.71 2.70 2.72

Rice 155.13 5965 3.85 3.78 6.19

Maize 139.21 600.4 4.31 2.93 7.08

Potatoes 17.99 294.3 16.36 16.09 16.57

Cassava 16.58 168.1 10.10 10.01 n.a.

All cereal grains 679.88 2064.2 3.04 2.76 3.55

(9.1) Which cereal crop in the world has the highest average yield per hectare ? How
much is it ?

(9.2) Which crop has the largest area harvested ? How much is it ?
(9.3) Which crop shows the highest average yield per hectare in the world ? How much is

it ?

uhps nh xbZ lkj.kh dk v/;;u dhft, vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

cksbZ xbZ Hkwfe okf"kZd mRiknu fo'o vkSlr fodkl'khy fodflr ns'kksa
Qly {ks=kQy ¼nl yk[k mit ns'kksa esa vkSlr esa vkSlr mit

¼nl yk[k gs-½   ehfVªd Vu½ ¼Vu izfr gs-½ mit ¼Vu izfr gs-½
   ¼Vu izfr gs-½

xsgw¡ 215.27 583.6 2.71 2.70 2.72

pkoy 155.13 5965 3.85 3.78 6.19

eDdk 139.21 600.4 4.31 2.93 7.08

vkyw 17.99 294.3 16.36 16.09 16.57

dlkok 16.58 168.1 10.10 10.01 n.a.

dqy [kk|ké 679.88 2064.2 3.04 2.76 3.55

(9.1) lalkj esa fdl vukt&Qly dh izfr gsDVs;j vkSlr mit lcls vf/kd gS\ ;g fdruh gS\

(9.2) fdl Qly dh cksbZ xbZ Hkwfe dk {ks=kQy lcls vf/kd gS\ ;g fdruk gS\

(9.3) lalkj esa fdl Qly dh izfr gsDVs;j vkSlr mit lcls vf/kd fn[kkbZ xbZ gS\ ;g fdruh

gS\
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 9.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ij gSA

Why is wheat the most widely grown cereal crop in the world ? Which are the two
types of wheat on the basis of the climate ? Name any two major wheat producing
regions of  the world. 1+1+1=3
lalkj esa lHkh vukt&Qlyksa esa xsgw¡ dk mRiknu {ks=k lcls vf/kd foLr`r D;ksa gS\ tyok;q ds
vk/kkj ij xsgw¡ ds nks izdkj dkSuls gSa\ lalkj ds fdUgha nks izeq[k xsgw¡ mRiknd izns'kksa ds uke
crkb,A

10. Study the diagram given below and answer the questions that follow : 1+1+1=3

India : Installed Capacity of Electricity (1998-99)

(10.1) Which is the major source of generating electricity in India ? What is the total
percentage of installed capacity of this source ?

(10.2) Name the two sources of equal installed capacity of electricity.

(10.3) Which is the second largest source of energy in the country ? What is its installed
capacity ?

uhps fn, x, vkjs[k dk v/;;u dhft, vkSj mlds uhps fn, x, iz'uksa ds mÙkj nhft, %

Hkkjr% fo|qr dh LFkkfir {kerk ¼1998&99½Hkkjr% fo|qr dh LFkkfir {kerk ¼1998&99½Hkkjr% fo|qr dh LFkkfir {kerk ¼1998&99½Hkkjr% fo|qr dh LFkkfir {kerk ¼1998&99½Hkkjr% fo|qr dh LFkkfir {kerk ¼1998&99½

(10.1) Hkkjr esa fctyh ds mRiknu dk izeq[k lzksr dkSulk gS\ bl lzksr dh LFkkfir {kerk dqy

fdrus izfr'kr gS\

(10.2) fo|qr~ dh leku LFkkfir {kerk okys nks lzksrksa ds uke crkb,A

(10.3) ns'k esa ÅtkZ dk nwljk lcls cM+k lzksr dkSulk gS\ bldh LFkkfir {kerk fdruh gS\
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 10.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ij gSA

Explain any three features of thermal power in India. 3×1=3

Hkkjr esa rki fctyh dh fdUgha rhu fo'ks"krkvksa dks Li"V dhft,A

11. State any six features of pipelines as a means of transport. Name the two famous
pipelines of the world. 3+1=4

ifjogu lk/ku ds :i esa ikbiykbuksa dh fdUgha N% fo'ks"krkvksa dk mYys[k dhft,A lalkj dh nks

izfl) ikbiykbuksa ds uke crkb,A

12. What is “Open Sky Policy for Cargo” of India ? Name the four classes of airports
developed in India. 2+2=4

Hkkjr dh ^^O;kolkf;d eky ds fy, eqä vkdk'k uhfr** D;k gS\ Hkkjr dsa fodflr gokbZ&iÙkuksa ds

pkj oxks± ds uke crkb,A

13. Why is service sector known as a productive sector in the world ? Explain any three
major components of service sector. 1+3=4

lalkj esa lsok {ks=k dks mRiknd {ks=k ds :i esa D;ksa tkuk tkrk gS\ lsok {ks=k ds fdUgha rhu izeq[k ?kVdksa

dks Li"V dhft,A

14. Explain any four urban waste disposal problems in India. 4×1=4

Hkkjr esa uxjh; vif'k"Vksa ds fuiVku dh fdUgha pkj leL;kvksa dks Li"V dhft,A

15. “Most of the towns of India perform a number of functions.” Justify this statement by
four arguments with suitable examples. 4×1=4

^^Hkkjr ds vf/kdrj uxj dbZ izdkj ls dk;Z djrs gSaA** bl dFku dk vkSfpR; pkj rdks± }kjk mi;qä

mnkgj.kksa lfgr fl) dhft,A

16. Define the term ‘Occupational Structure’. Describe the main characteristic each of the
four major groups of human occupations in the world. 4+1=5

^O;kolkf;d lajpuk* 'kCn dh ifjHkk"kk nhft,A lalkj esa ekuo O;olk;ksa ds pkjksa oxks± dh ,d&,d

eq[; fo'ks"krk dk o.kZu dhft,A

17. Define the term ‘Migration of Population’. Describe any four types of migration on the

basis of direction of movements in India. 1+4=5

^tula[;k&izokl* 'kCn dh ifjHkk"kk nhft,A Hkkjr esa LFkkukUrj.k dh fn'kk ds vk/kkj ij izokl ds

fdUgha pkj izdkjksa dk o.kZu dhft,A

18. “The temporal and spatial distribution of large cities of the world has changed rapidly.”

Support this statement with five suitable examples. 5×1=5

^^lalkj ds cM+s uxjksa ds forj.k esa le; ,oa LFkku ds lanHkZ esa rsth ls ifjorZu gq, gSaA** bl dFku

dh iqf"V ik¡p mi;qä mnkgj.kksa dh enn ls dhft,A
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19. (19.1) In the given political outline map of the World (on page 8) four features are shown

as A, B, C and D. Identify them with the help of the map legend and write their

correct names on the dotted lines marked on the map. 4×½=2

(19.2) On the given political outline map of India (on page 9) provided to you, locate and

label the following with appropriate symbols : 3×1=3

(i) The state having the highest percentage of rural population.

(ii) The state having the highest density of roads.

(iii) The steel plant set up in public sector in Jharkhand.

(19.1) fn, x, lalkjlalkjlalkjlalkjlalkj ds jktuhfrd js[kk&ekufp=k ¼i`"B 8½ esa pkj y{k.k A, B, C vkSj D ls fn[kk,

x, gSaA ekufp=k dh dqath dh lgk;rk ls mUgsa igpkfu, vkSj ekufp=k esa vafdr [kafMr js[kkvksa

ij mu y{k.kksa ds lgh uke fyf[k,A

(19.2) vkidks fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9½ esa fuEufyf[kr dh fLFkfr

mi;qä fpg~uksa }kjk fn[kkb, vkSj uke fyf[k, %

(i) xzkeh.k tula[;k ds lcls vf/kd izfr'kr okyk jkT;A

(ii) lcls vf/kd lM+d ?kuRo okyk jkT;A

(iii) >kj[kaM esa LFkkfir lkoZtfud {ks=k dk bLikr la;a=kA

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 19.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 19 ds LFkku ij gSA

(19.1)    Which state has the highest percentage of rural population in India ?

(19.2)    Name the state which has the highest density of roads in India.

(19.3)    Name the steel plant of public sector set up in Jharkhand state of India.

(19.4)    Name the Science and Technology Park located on the eastern coast of the U.S.A.

(19.5)    Which is the largest cotton producing country of Africa ? 5×1=5

(19.1) Hkkjr ds fdl jkT; esa xzkeh.k tula[;k dk izfr'kr lcls vf/kd gS\

(19.2) Hkkjr ds ml jkT; dk uke crkb, ftlesa lM+dksa dk ?kuRo lcls vf/kd gSA

(19.3) Hkkjr esa >kj[kaM jkT; esa LFkkfir lkoZtfud {ks=k ds bLikr la;a=k dk uke crkb,A

(19.4) la;qä jkT; vesfjdk ds iwohZ rV ij fLFkr foKku vkSj izkS|ksfxdh ikdZ dk uke crkb,A

(19.5) vÝhdk esa dikl dk lcls cM+k mRiknd ns'k dkSulk gS\
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